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QUESTION 1

Which two are true about using the ACCESSIBLE BY clause? (Choose two.) 

A. It can be used in the declaration of object types. 

B. It must be specified in the heading of a package specification. 

C. The check is enforced by this clause for direct access and access through dynamic SQL. 

D. It can be used for individual procedures and functions declared in a package specification. 

E. It must be specified in the heading of a package body. 

Correct Answer: AD 

https://docs.oracle.com/database/122/LNPLS/ACCESSIBLE-BY-clause.htm 

 

QUESTION 2

Which two are true about named notations in a PL/SQL subprogram? (Choose two.) 

A. The actual parameters must be specified in the same order as the formal parameters are declared. 

B. Specifying actual parameters in the wrong order results in the subprogram terminating with an exception. 

C. Only trailing optional parameters can be omitted in the invocation call. 

D. The subprogram invocations must be changed when the formal parameter list acquires new required parameters. 

E. Any optional parameters can be omitted in the invocation call. 

Correct Answer: AE 

 

QUESTION 3

Which three statements are true about Implicit Cursor and Explicit Cursor? (Choose three.) 

A. Implicit cursor returns only one record. 

B. Explicit cursor can return more than one record. 

C. %Isopen, %Rowtype, %Notfound, and %Found are the attributes of Explicit Cursor. 

D. %Isopen, %Rowcount, %Notfound, and %Found are the attributes of Explicit Cursor. 

E. %Isopen, %Type, %Notfound, and %Found are the attributes of Explicit Cursor. 

F. %Isopen is always false in Explicit Cursor. 

G. %Isopen is always false in Implicit Cursor. 
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Correct Answer: BCG 

 

QUESTION 4

Which two are true about the PLSQL_CODE_TYPE parameter? (Choose two.) 

A. Changing the parameter setting automatically changes the setting for existing PL/SQL library units. 

B. The default value is NATIVE. 

C. If set to NATIVE, programs are stored in platform dependent machine code. 

D. It can use the REUSE SETTINGS clause to recompile a program unit without changing to the current session
settings. 

E. If set to NATIVE, programs are stored in a PL/SQL bytecode format. 

Correct Answer: CD 

 

QUESTION 5

Which three are true about PL/SQL subprograms? (Choose three.) 

A. Results of a subprogram can be cached in the SGA such that sessions connected to the same instance can reuse
these results when available. 

B. Users granted execute privilege on a procedure compiled with definer\\'s rights require grants to access objects
belonging to the definer that are referenced in the procedure. 

C. Subprograms are cached by default and shared among users, thereby reducing memory requirements. 

D. Reuse of parsed PL/SQL code from the shared SQL area reduces parsing overhead. 

E. A subprogram\\'s session state is retained even if any of the session\\'s instantiated subprograms are invalidated and
revalidated. 

F. Host variables can be referenced inside any PL/SQL subprogram. 

G. A PL/SQL procedure can invoke an external code block written in a different programming language. 

Correct Answer: CDG 
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